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General Instructions :
(1) All questions are compulsory.
(1i) Question number 1 to 5 are very short answer questions and carry 1 mark each.
(iti)  Question number 6 to 10 are short answer questions and carry 2 marks each.
(1v) Question number 11 to 22 are also short answer questions and carry 3 marks each.
(v) Question number 23 is a value based question and carry 4 marks.
(Vi) Question number 24 to 26 are long answer questions and carry 5 marks each.

(vii)  Use log tables, if necessary. Use of calculators is not allowed.

. SHRH T B & ? Ush 3ST80T ST |

What are emulsions ? Give an example.

2. ‘A UHTT HT T AT BlaT € 2

What 1s meant by chelate effect ?

3. M= @ 2 g Ul v E (JUPAC) A [@haT
CH, — CH, - CHO

Write the IUPAC hame of the following :

CH, — CH, =€HO

4, T BT AR 9T & Fad shH H AT iy
UMM, p-TS2UHeAN 3R p-2IefgeH

Arrange the following in increasing order of basic strength :

Aniline, p-Nitroaniline and p-Toluidine

5. AgCl T YR 1 RMBAMS I T § 2

What type ot stoichiometric defect 1s shown by AgCl ?
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6. T AT T AT HIT
(i) TRIERRE I 3TULT ARSI S@d HH Ak ¢ |
(i)  NF, U SOl 9=T19 & W NC/, FHwRIE! 9514 8 |

Explain the following :
(1)  Nitrogen 1s much less reactive than phosphorus.

(1)  NF; 1s an exothermic compound but NC/; 1s an endothermic compound.

7. UIREHE GHTHE i (HI0T fafg &7 auF T | 3Tiehd T STeITeTeh 3TF & 91 hd
3ITSRAT SHYaT & 2 AR o fo1d 3TafHeh JHieRo fafay |

ST

TISTRTEH STShHE i SFEIHIUT AT T U HifsTT A 3T (i) RS (ii) H,S & 91
B ST STAThATT o T3 3TAeh THISHIOT hi TaRgu |

Describe the preparation of potassium permanganate. How does the acidified

permanganate solution react with oxalic acid ? Write the 1onic equations for the

reactions.

OR

Describe the oxidising action of potassium dichromate and write the 1onic equations

for its reaction with-(1) an 10dide (1) H,S.

.  WIATA § W IA4-H 37T SIoiiehiuT i fshanfaty ferau |

Write the mechanism of acid dehydration of ethanol to yield ethene.

9. 7% Ugl &l YR [y
(i) ~ HIeART (x)
(ii) T et Sl AeTerd (m)
Define the following terms :
(1) Mole fraction (x)
(ii) Molality of a solution (m)
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10. SIRT 3ATET 3R 5™ SAe Aharetl o foid 3¢ R o JHe [Eau 39 =i § STe sl
T mol L~! 37X 9T 1 Wehvel H Toiar T &l |

Write units of rate constants for zero order and for the second order reactions if the

concentration 1s expressed 1n mol L' and time in second.

1. = % 3T 30
(1) UCHMIE & 9TqHH T HIEACIES i T YHeT &l & 2
(i) 9o TRaT 3T a9 § 37T SHilew |
(iii) “SPIHSHI® U% ¥ 1 acdd &Il € ?
LI

AET S & o0 =Ie &9 & TafT=1 9 | & aTedl 31shand i@y |

Answer the following :

(1)  What 1s the role of cryolite in the metallurgy of aluminium ?
(11) Daifferentiate between roasting and calcination.

(1) What 1s meant by the term ‘chromatography’ ?
OR

Write the reactions taking place in different zones of the blast furnace to obtain Iron.

2. “SHMUIH | T T 8 € ? STold (g T SHMUEA TRt 3 Ush a0l iU |

?

What 1s meant by ‘disproportionation’ ? Give one example of disproportionation

reaction 1n agueous solutions.

13. HrEd % [UPAC 79 foiaq
(i)  [Co(NH,)]CL,
(ii)  [NiCI,]*
(iii) K5[Fe(CN)]
Write the IUPAC name of the following :
(i)  [Co(NH,)]CL,
(i) [NiCL]*
(iii) K;[Fe(CN)]
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4. 7= AM0TeRT o 3 J O T A (IUPAC) ATHT 3l JITSTT -

(1) CH3 — (‘ZH — CH2 — CH3
Br

Br

(11)
Br

(m) CH,=CH-CH, -CI
Give the IUPAC names of the following compounds :

(1) CH3 — (|3H — CH2 — CH3
Br

Br

(11)
Br

(ili) CH,=CH - CH, — CI

15. = ®qiaRe 9,6 Sa & 2

(i) df~TeT FARTES Hl di~TeT Toshlalel H

(i) UfIeT HEIYEH FARES &1 WUA-1-37 |
(iil) O h UOH-2-3TT H

How are the following conversions carried out ?
(1)  Benzyl chloride to Benzyl alcohol

(1) Ethyl magnesium chloride to Propan-1-ol

(1) Propene to Propan-2-ol

56/2 S [P.T.O.
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16. = AHATS H & 3R &

PCI,
(iy CH,-CH,OH >2

OH

anhyd. AICI,
(11) + CH,— CI > 7

(ili) CH,— CI+ CH,CH,— ONa — ?

Write the major product in the following equations :

PCI,
(i) CH,-CH,OH >2

OH

3 anhyd. AIC/,
(11) + CH,— C/ > )

(ili) CH,— Cl+ CH,CH,— ONa — ?

Deftine the following as related to proteins :
(1)  Peptide linkage
(1) Primary structure

(111) Denaturation

18. “SHIUTATHRIESII’ U Shl ST SHifST T “ShIATTHIESeM & ] 3S@L0T ST |

Explain the term ‘copolymerization’ and give two examples of copolymerization.

56/2 6
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19. e fec STo § fohelord 8T & | A% e TeT & R ol orrs 4.077 ¥ 10~° cm &, ot
fea &7 3T (r) IRSioId iU |

Silver crystallises 1n fcc lattice. If edge length of the unit cell 1s 4.077 X 107° cm, then

calculate the radius of silver atom.

20. HA-IFR (M.W. 342) T 5 U9 Ot (FeTH 3MUR W) Th 951 X & 0.877% =it o q1
TR & | X T SUTTeh 9 TR {oAd Shifed |

A 5 percent solution (by mass) of cane-sugar (M.W. 342) 1s 1sotonic with 0.877%

solution of substance X. Find the molecular weight of X.

21. U UIH Hife AYHAT & 18 3T TR/ 60 s & | 3P Reh o URIRTeh |07 sl 39 1/10
ok T2 | TohadT IHI I 2

The rate constant for a first order reaction is 60 s '. How much time will it take to

reduce the initial concentration of the reactant to its 1/10" value 2

22. 9 UshHT -1 iU
i) SECEd
(i) SoERIHREY

(iii) TeUvseT mrE

Describe the following processes :
(1)  Daialysis

(1) Electrophoresis

(11) Tyndall effect
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23. RS feureH=el WR | W o 9HH @G & o T | U6 @H | 98 $8 PRIAed (i
G | E $9 Tl Sihar Wi & Hyad fHar ST 30 I & o/l SUAnTt off, Fifh 39
ST IR o WS & | FR1 19 WehIX ol SFIRAfed feferdl & | 38 Foig T a7 gehlele e
ST 39k 18T o fordl IUAT o |

(i) U 3 IR ed BT A9 ST S ARST o 7l TRT |
(ii) o ST o T o [oHT UHET ga @IIEHAT RS & [o1d 3rad &1 2

(iil) SUERT | FIXST T i QT T[0T UicTeArard &idm & 2

Neeraj went to the departmental store to purchase groceries. On one of the shelves he
noticed sugar free tablets. He decided to buy them for his grandfather who was a
diabetic. There were three types of sugar free tablets. He decided to buy sucrolose

which was good for his grandfather’s health.
(1)  Name another sugar free tablet which Neeraj did not purchase.
(1) Was it right to purchase such medicines without doctor’s prescription ?

(1) What quality of Neeraj 1s retlected above ?

24. (a) YU 16 & @ AERUGEAT TIH A TSl qoqwe-dl 3Tad arel J9 15 & a<al ol
qoT § T A 9 & | UhT /1§ ?

(b) T BAT & I —
(i) 9% H,SO, %l CaF, T Sl Sl 8 ?
(i) TR STIIHIATZE TRHIA i SURATT H FARIT T STHHAT Ll & 2

(i) STHIFEH FANTEE I Ca(OH), % |1Y ST fohar ST & 2

AT
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(a) T o1 WA SR ifoTy
(i) BrF,
(i) XeO;
(b) =1 U9l &% 3T I
(i)  PH,! 319e NH, 3 21feeh &g il & ?

(i) &AST Uelol 3TRATshINeh T &Il & 7
(iii) XeOF, % HTEAT RIE iy |

(a) Elements ot Gr. 16 generally show lower value of first 1onization enthalpy

compared to the corresponding periods of Gr. 15. Why ?
(b) What happens when

(1) concentrated H,SO, 1s added to Cak, ?

(1) sulphur dioxide reacts with chlorine in the presence of charcoal ?
(u1)  ammontum chloride 1s treated with Ca(OH), ?

OR

(a) Draw the structure of the following :
()  BrF;
(1)  XeO,

(b) Answer the following :

()  Why 1s NH,; more basic than PH, ?

(1) Why are halogens strong oxidising agents ?

(1) Draw the structure of XeOF,.
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25. (a) =1 =l YEA ARAGT iU

(i) p-AfCTESUCERRES
(ii) ~ 4-ATIeTo2-3-39-2-37H
(b) = AT g § 3T A & {18 Qe S b Siiee
(i) =g UfEg R TIersue |
(i) S=IceERS 3R THEhAM
(i) WIATeT 3R Swiigeh UrgS

3T
(a) T AT Bl TEATT SR HiTC
(i) WU 3eH

(i) CH,CHO =T FHeheSIH
(b) TS T 3T =7 AT H Hl EUART B ? oS T -eh THISHOT &l ST |
() . CH; - CH,
(m) CH,;-CH-CH, - CHO
oH
() \CH;CH,OH
(a) Draw the structures of the following :
(1)  p-Methylbenzaldehyde
(1) 4-Methylpent-3-en-2-one
(b) Give chemical tests to distinguish between the following pairs of compounds :
(1)  Benzoic acid and Ethyl benzoate.

(1) Benzaldehyde and Acetophenone.

(1) Phenol and Benzoic acid.

OR

56/2 10
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(a) Draw the structures of the following derivatives :

(1)  Propanone oxime

(1)  Semicarbazone of CH,CHO

(b) How will you convert ethanal into the following compounds ? Give the chemical

equations involved.
()  CH,; - CH,

(i) CH,—CH—CH, - CHO
|
OH

(ili) CH,CH,OH

26. A G° 3T e.m.f.(E) Fl e HifeT 3 25 °C W Ees (i § F=1 det § 1 8ie ¢ -

Zn(s) | Zn**(aq) Il Sn**(aq) | Sn(s)

T T3 - E° =_0.76 V: E°

=014V
Zn2+/Zn

Sn~t/Sn

31 F = 96500 C mol-

AT

(a) U TaEQ-31a=ed & aed- & o areshal 3R HioR dTeiehdl Sl ARy Hig |
JiEdT o 91 S URe shl ST iU |

(b) 3T TeAciieh Tl & L oe oA Tod T TREhleAd HITeTq (oTqy =7 37afshar gidt €

Fe**(aq) + Ag*(aq) — Fe’*(aq) + Ag(s)

ATTsHAT ST A G° 3R Jodieh! [erieh &l Tehet i i |

(E° — .80 V; E° ,.=0.77V)
C

Ag'/Ag Fe */F
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Calculate A G° and e.m.f. (E) that can be obtained from the following cell under the

standard conditions at 25 °C :
7Zn(s) | Zn**(aq) Il Sn**(aq) | Sn(s)

Given: E° , ~=-076V;E° , =-0.14V

and  F=96500 C mol.
OR

(a) Define conductivity and molar conductivity for the solution of an electrolyte.

Discuss their variation with concentration.

(b) Calculate the standard cell potential of the galvanic cell in which the following

reaction takes place :
Fe**(aq) + Ag*(aq) — Fe*(aq) + Ag(s)

Calculate the A G® and equilibrium constant of the reaction also.

(E° = (0.80 V; E°

=0.77V)
Ag'/Ag Fe */Fe”*
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